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Instruction:

(i) There are in all 30 gquestions in this question paper. All questions are
compulsory.

{ii) Marks allocated to every question are indicated against it.

{iii} Question No. 1 is multiple choice type question, Question Nos. 2 to 6 are
of one mark each. Question Nos. 7 to 15 are of two marks each.
Question Nos. 16 to 24 are of three marks each. Question Nos. 25 to
30 are of four marks each.

1. 399 & YIS @8 & IR ¥ IR faae i ) €1 w1 fade 3ol swR gfaer &
e X626

Four options are given in each bart of this question. Write the correct answer in

your answer book.

(@) M ETegaaEs o IAKaHe A @ -
The chemical formuia of Ammonium Hydroxide is -
(N CH,COOH (i)  NH,OH
(i) H,S0, (iv)  NaCl
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(@) o Rera o7 pH W51 Yeldie avar & -

(i) SEA D A (i) ETSIoH FEEES DI AT
(iil) ETERIS M AT (iv) fcerm Bt amn
The pH scale of a solution represents -
(i) Quantity of Carbon (i) Quantity of Hydrogen Oxide
(i) Hydrogen Ion Concentration (iv) Quantity of Calcium
(M) 9= TRR A go ey vt & -
(iy uRaeA iy ooy
(i) ¥ (iv) 3o
Kidney in Human body is related to -
() ~Transport (i)  Nutrition
(ii)  Respiration (iv) Excretion
(a) T g & IR 3R &1 a8 &7 I 390 561 & T35 fobaT 511 Faba &/, BEel
g -
() fomas (iy TEOI &
iy foum &= - (iv) IS &F
The area surrounding a magnét where its force can be detected, is calied -
(i) Potential field (i} Magnetic field
(ii)  Direction field (iv) Neutral field
() e advr & ga T J&I Hied & arg &Y gL Haerd & -
() e s (i) weEg
(i) G Bw | (iv) 9T 34
The distance between pole and principal focus of a spherical mirror is
called - |
(i) Radius. of Curvature (i)  Focal length
(i)  Centre of Curvature (iv)  Principal axis
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) Mmﬁﬁaﬁmﬁaﬁaﬁéﬁammmﬁaﬁmwwaawﬁaw@r

R €, e & -
(i) SUITH (i) 3NTUISH
(i)  SUHH (iv) Tgame

What are the organisms called which depend directly or indirectly for the
food produced by the producers in an ecosystem -

(i) Decomposers (ii) Detergents
(i} Consumers (iv) Autotrophs
2. a9 & T BT pH A 79 5.6 F A & AT & A I T DEARI &7 1
What is the rain called when its pH value goes down from 5.6?
3. (PR U9 ENGIR Gl geb I a1 el 22 | 1

What a flower with both Stamens and Pisti! is called?

4. oF foga soa 220v & T ¥ GAfs 1 69 F 0.50A faga aRT waTed €l | a6
W1 2B 3 BHifoTe | ﬁ 1
An electric bulb is connected with the generator of 220V. The current flow in bulb
is 0.50A. Caiculate the power of buib.

5. Uﬁ@%ﬁ@ﬂ?fﬂ?ﬁﬁﬂﬂﬁ?ﬁ%ﬂ@ﬂmdl%”Wﬂj’Hd:c?@d\LgdﬁaﬁW:lﬁﬁ@
uraT| 39 s § BF 9 gite A gme 1

A man is able to see the distant objects clearly but unable to see clearly the

nearby objects. Which sightedness is the man suffering from?

6. ol b U dpiedd Ad & 7 felRad | 1
Write the name of one alternate source of energy.
7. e sthiear f5d TEd €7 ve JareRor Wi Al | 2

What is 'Combination Reaction'? Give an example also.

8. paTeieTar & MR W eng3i & fosa auif # feenfora o s waan €7 A foiea
2
On the basis of reactivity, in how many groups metals can be classified? Write

NdMmes.
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10.

11.

12.

13.

14,

15.

16.

QIS a1 faewat ¥ @or 3R 27 IS 3T UF IR0 9 el 2

What is the difference between Autotroph and Heterotroph? Give an example of

each also.

eI X9 W IR S atet & gagar & AW fealEa| " 2
Write the names of two enzymes found in Pancreatic Juice.

BRI § HHo dhact (o GRT THATSd | 2

Explain buddlng in Hydra only by diagram.

80 q%ﬁuaaﬁgﬁgﬁéﬁuﬁgaﬁﬂﬁzu%aa 15 A forger ey o &1 e & 37w
FoT B T IRBIAT DI | 2
An electric heater of 8Q resistance takes 15A electric current from electric

mains for 2 hours, Calculate the rate of heat generated in heatar.

faga a1 @1 Rty S e 9@ 7os foRked| 2
Define Electric Current and write its unit. | o

STE BT 3UGed 1.33 &1 39 HUF P T AT 27 o 2
The refractive index of water is 1.33. What is the meaning of this statement?
71 &1 =1 A foriRae - 3 1+1=2
Write full name of the following : '

(®) OTEC (") CFC
ﬁw%%ﬁaqﬁﬁﬁfmﬂésmﬂﬁ%ﬁwmﬁasmw%m 1+1+1=3

Give balanced chemlcal equation for following reactions -
(®) 4Na+ 0, —— 2Na0

(@) Fe,0; +2Al —» Al,O; +Fe

(T NaOH + Zn——»Na, ZnO+H,

J’IAT (OR)
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17.

18.

19.

20.

21.

T 2T & 574 (PaeT THaTe T k) - 14141=3

What happens when (write only chemical equation)-

(F) AFIRS aEs BT IRA fowan S &

Mercuric Oxide is heated.

(@) 157 3TaaTEs & FE= & 9 T e FE 21

Zinc Oxide is heated with Carbon.

(M) 3O 3NFISs (1) 3 eefafraw @ o At &1 -

Iron Oxide (III) reacts with Aluminium.

Frfoiaa ael & sdagie faware (@ #) fufeay - 1+1+1=3
Write electronic configuration (in shells) of following elements -
() AlI{(13) () Mg(12) (1) Na(11)
v Xforan Frvior # foer- s st o1 yram g @ e 39T Jrgura foba drar 87 o
i & v e faRad | 3

Which acids are used in preparation of Aqua regia and what are their proportion?
Write one characteristic of Aqua regia.

webrer ot faem # urew &1 srgforan & &1 fer gR wAERe 3
Plant response in the direction of light. Explain with figure. :
e IHTTCT q & 3Faed BT H d TGRS BT WGIRTd diford | 3
Draw a diagram of Longitudinal section of a bisexual flower and show reproductive
organs.

AYdr (OR)
TG UTa- dF &l W T a98d g7 o9y FeafaRaa vml dreefsd - 1v+112=3
(i) e (i) 3rETERT (i) TP
Draw a neat and clean diagram of Human alimentary canal and label the following
partsin it -
(i) Bileduct (i) Stomach (i) Oesophagus

T = <ftrg Reaoh fif - 1/2+1%=3
(i) wedcd (iy afam

Write short notes on foliowing -
(i) Platelets (ii) Lymph
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22. 400W 3FFE &1 D18 IWBaIRex 8 b / fo1 aetman 31w 81 30 o7 7 wom & fore ot
@ a1 341 &m? (8% 3.00 T Hikd Kwh) 3
A Refrigerator of 400W power is run for 8 hours/day. What will be the cost of
the energy to operate it for 30 days? (Rate Rs. 3.00 per KWh)

23. UF o< amal b= (C) a1 BId (F) & 91 H IE 8| 3raact gUuT J1 3et aUoT gRT
& ane wffors o Rafa ® fsor s g1 geriEd| 3

An object is kept between centre of curvature (C) and focus (F). Show the

position of image formed by concave mirror and convex mirror by ray diagram.

44l (OR)

FTUT § B GTAT B TR |

Explain the phenomenon of Rainbow formation.

24, 9 w Sféra Rwoh folRe - 1%2+1%=3
(®) T FHaf | (@) YT S
Write short notes on following -

{(a) Nuclear Energy (b) Geothermal Energy

25. (%) 2 Iepe Tt o1 A forfedy | 1

Write the name of two noble gases.

(@) AP 7 39T 379d RO dUR B H B TT AMGUE ATaT? 1

What were the criteria used by Mendeleev in creating his periodic table?

(M) L e A siftresan o gaaer & wed & 1

How many maximum electrons may be in L-shell?

(7) Az vdidase & I9aHs 9a fafar| | 1

Write the chemical formula of Sodium Ethoxide.

26. FTAG vd FHTEGT RiHaT & qRr AR 2N F ve-Us IaERoT H AR 4

Write the definition of Exothermic and Endothermic reactions. Give an example
of both,

31241 (OR)
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(@) e & a9 w ue e okl - 2
(i) € o7 ST
(i) afem g
Write chemical formula and one use of the foliowing -
(i) Washing Soda
(i) Baking Soda

(@) ol vd sremgait 7 & sier feifa 2
Give two differences between metals and non-metals.
27. (@) Iiista weion | Tr ST 22 74
What do you mean by Acquired characters?
(@) B TR IT-AE gfer & AW foiad | 2

Write the name of any four Endocrine giands.

28. () 15V fawarer ¥ & firgat & §f 5¢ 3y @ o o1 F fosamn Srf v 7 27
| . 5

How much work is done in moving a charge of 5C across two points
having a potential difference 15V?

(@) 50 % TR s BT soR 3 sl ooy § 2 ge 1 aRa @1 qea aieRiE (R)
1 DIt | 2

Four resistors of 50 each are connected in a circuit as shown below. Find

the equivalent resistance (R) of the Circuit.

50 50

5Q 50

Y K
JiUdl (OR)
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(@) fagger aRueit don w3 wmraE: Iwin & art &1 Ren Ut & W fofae|
1
Name two safety measures commonly used in electric circuits and

appliances.

(@) foega st 5w Rea w o &< g2 1
On which principle, electric generator works?

() yeanadl fag]d aRT 30E B a1t &1 Wl & A feaae] 1
Write the name of two alternating current producing sources.

(a) wifEm & e &1 & | J aan o Rear 82 1

Which information is obtained from Fleming's left hand rule?

29. ®$ 4.0 cm MBR FT fdg fERA 15.0 cm BT T & 3@aT FU0T H 25.0 cm T ®
T &1 ghor ¥ forar @t R el e o v i o v wiafde wra @ sfafde o
Ul qAT |SS 31 SR 4

An object, 4.0 cm in size, is placed at 25.0 cm in front of a concave mirror of
focal length 15.0 cm. At what distance from the mirror should a screen be
placed in order to obtain a sharp image? Find the nature and the size of the
image.

30. ifer oY & Rl TR et Y R 4
Write any four benefits of constructing dams.
AT (OR)
Ui TR F9T 82 U MER T Bl JaTeR0T ST I 399 i ol &R sasd|

What are trophic levels? Give an example of a food chain and state the different
trophic levels in it.

% % 3k ok %
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